Algebra 2





             Name: _____________________________

Unit 2, Day 10




                         Date: __________________ Period: _____

Unit 2 Practice and Review
Show all work and reasoning.  Use a pencil and highlight your answers.  
	1.  Determine the domain and range using both set notation and interval notations.

	
	a)
	b)
	c)

	D: (set notation)

D: (interval)

R: (set notation)

R: (interval)
	_____________________

_____________________

_____________________

_____________________
	_____________________

_____________________

_____________________

_____________________
	_____________________

_____________________

_____________________

_____________________

	
	
	
	

	D: (set notation)

D: (interval)

R: (set notation)

R: (interval)
	_____________________

_____________________

_____________________

_____________________
	_____________________

_____________________

_____________________

_____________________
	_____________________

_____________________

_____________________

_____________________


	2.  Solve for x.

	a)  
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	c)  
[image: image3.wmf]2

8

5

3

=

-

x



	d)  
[image: image4.wmf]1

2

3

5

7

=

+

x



	e)  
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	3.  Simplify each expression.  Be sure to write the expressions without negative exponents.

	a)  
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	4.  What is the multiplier for the following?

	a)  35% off sale 


	b)  appreciation of 17%
	c)  tax of 6.2%


	d)  1/3 annual decrease

	5.  Add or subtract the following fractions.  Be sure to look for lowest common denominators!  Simplify!

	a)  
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	6. Write the equation of the line passing through   (–3, 7) and (6, 1).



	7.  Jane and June are both saving for prom dresses.  June has $100 and saves $20 per week, while Jane has only $50 and is saving $30 per week.

	a)  Write a rule for the amount of money each girl will have in n weeks.

Jane   t(n)=

June   t(n)= 


	b)  When will they have the same amount?

	8.  A $1000 computer loses 5% of its value each month.  

	a)  Write the rule for the value after n months.


	b)  Use the rule to show when the computer is worth $568.80.

	9.  A sequence begins with 3, 15, …

	a)  If the sequence is arithmetic, 
	b)  If the sequence is geometric

	i)  What is the rule (i.e., equation)?

ii)  Is 300 an output of this sequence?  Demonstrate and explain.


	i)  What is the rule (i.e., equation)?

ii)  What is n when the output is 46875?

	10.  Investigate the function 
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.  Make a complete graph.

	x–intercepts:


	y–intercept:


	 

	line of symmetry:


	vertex:


	

	Domain:


	Range: 
	

	11.  Factor completely.

	a)  
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	12.  Simplify.

	a)  
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	13.  Solve for x.

	a)  
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	14.  Find the x–intercepts.

	a)  
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